Answers to power point used at GCSE Revision 24 May 2013
Q1 (a) What is the message of this cartoon?

The message of this cartoon is that Clemenceau was treating Germany very badly after the First World War. This is shown by Clemenceau being drawn as a vampire sucking the blood from a girl representing defenceless Germany. This is a reference to Clemenceau’s demands for reparations.

Q1 (b) Explain why the Germans hated the Treaty of Versailles.
The Germans hated the Treaty of Versailles after the First World War because of the War Guilt clause and the demand to pay £6.6 billion reparations.

They also hated the Treaty of Versailles because they were left defenceless:

· No airforce

· Small navy (6 battleships)

· Small army (100 000 men)

· No u-boats

· No tanks
Q2 (a) What were the aims of the League of Nations?

The aims of the League of Nations were to

· Keep world peace – prevent a repetition of the First World War

· Achieve international disarmament

· Make the world a better place to live, for example by eradicating disease and achieving better wages and working conditions for poor people

Q2 (b) Explain why the League of Nations was weak.

The League of Nations was weak because it was a League of ‘some Nations’. For example the USA refused to join despite it being Wilson’s idea.

The League of Nations was weak because it was badly organised. It had no army. All the Council could do was tell an aggressive country it was behaving badly or impose economic sanctions.

Q2 (c) The following were equally important in causing the failure of the league;

  
 (i)The USA’s isolationism;

(ii)The Japanese invasion of Manchuria;


(iii)The Italian conquest of Abyssinia.

Structure for answer - 3 (c)

Explain how US isolationism weakened the League. 

Explain how the Japanese invasion of Manchuria showed the League was unable to prevent aggression.

Explain why the Italian conquest of Abyssinia meant that the world totally lost faith in the League of Nations.

Try to make some links 

Come to a conclusion
Q3 (a) What were the aims of Hitler’s foreign policy?

The aims of Hitler’s foreign policy were

1. To get rid of Versailles

2. To unite all German-speaking people

3. To gain lebensraum or living-space for the German master race

4. To crush communism in the USSR
Q3 (b)  Explain why GB appeased Hitler in the 1930s.

GB appeased Hitler in the 1930s because Chamberlain remembered the slaughter of the First World War; he thought another war would destroy civilisation. He feared that German bombers would destroy many British cities.

Britain's armed forces were not ready for a war, and Chamberlain thought that he could do a deal with Hitler.

Q3 (c) The following were equally important in causing the Second World War;


(i)The German Anschluss with Austria, 1938;


(ii)Appeasement;


(iii)The German invasion of Poland, 1 Sept. 1939.

How far do you agree with this statement? Explain your answer referring only to (i), (ii) and (iii)

Structure for answer - 3 (c)

Explain how appeasement encouraged Hitler to demand more and believe he would ‘get away’ with it
Explain how the Nazi-Soviet Pact made Hitler confident that he could invade Poland.

Explain how the German invasion of Poland directly led to the Second World War.

Try to make some links 

Come to a conclusion
Part 2: Depth Study
USA 1919-41
Q4 (a) What is the message of this cartoon?
The message of this cartoon is that children were suffering because of their drunken fathers. It was published to encourage the USA to introduce prohibition. The title is ‘Daddy’s in There’, meaning the saloon, and the children are saying that their clothes and food are in there too. By this they mean that their Daddy will spend the money for these on alcohol instead. 
Q4 (b) Do you think that this photograph proves that prohibition was failing by the mid 1920s?

At face value the photo seems to show that prohibition was succeeding by the mid 1920s. This is because it shows a barrel of alcohol being tipped down the drain. However, the writing below the cartoon makes it plain that the amount of bootleg seized was only a fraction of the total. The agents were very badly paid. Gangsters like Al Capone were able to bribe them and the police to ensure that the illegal alcohol business boomed.
Q4 (c) Why was this poster produced in the 1920s?

This poster was produced in the 1920s to encourage people to drink Coca Cola. It used the images of ‘flappers’ to make coca cola seem a stylish drink that cool people would want to be seen drinking in the Roaring Twenties.
Q5 (a) Describe the motor car industry in the 1920s
· The motor car industry was dominated by Henry Ford.

· He introduced mass-production.

· His most famous car was the Model T Ford.

· The success of the car industry created jobs in industries like glass, rubber, oil and road-building.

Q5 (b) Explain how Americans were persuaded to buy the products of US industries in the 1920s.
Americans were persuaded to buy American products because high tariffs made similar foreign goods more expensive. They were also persuaded to buy because firms used advertising, on billboards, in magazines and on the radio to persuade them they needed the new consumer goods. Mail-order catalogues brought buying these products in reach of people living deep in the countryside. Finally hire-purchase schemes enabled people to buy now and pay later.

Q5 (c) How important were the policies of the republican governments in causing the economic boom in the USA in the 1920s?

You need to identify at least another 2 factors and compare their relative importance with the policies of the Republican governments. Try to link your factors together where you can and show judgement.

Q6 (a) Describe the Supreme Court struggle
· The Supreme Court had the power to declare laws passed by the President unconstitutional (un-american).

· The majority of the Judges were Republicans who opposed Roosevelt’s New Deal..

· They first banned the NRA in 1935 over the ‘sick chickens’ case.

· After re-election in 1936 Roosevelt got the Supreme Court to back down by threatening to create enough new Judges who would support the New Deal..
Q6 (b) Explain why Roosevelt was not popular with all Americans.
Many richer Americans disliked Roosevelt raising taxes in order to spend money on his alphabet laws. They thought he was a ‘traitor to his class’ and refused to mention his name, calling him ‘that man in the White House’.
Other Americans thought that the New Deal did not do enough to help poor people or specific groups such as black people or women. They believed that Roosevelt should have done more to help..

Q6 (c) ‘The New Deal Was a success’. How far do you agree? Explain your answer.

You need to explain ways in which the New Deal was a success – give examples of alphabet laws that helped people.

You then need to explain why the New Deal was not completely successful – what problems still remained towards the end of the 1930s? Was it only the New Deal that put most Americans back to work by 1941?
Try to write a balanced answer but come to a conclusion that shows judgement.
